Sat-Mon-Wed Batch

Udvash Academic & Admission Care Engineering Admission Program-2022 Exam Batch Routine (1st-5th Week)



Week	Date	Day	Daily Exam	Syllabus	
	28-Dec-22	Wednesday	Introductory	-	
	31-Dec-22	Saturday	M-01	Chapter-03: Straight Lines (1st Paper)	
	02-Jan-23	Monday	P-01	Chapter-02: Vectors (1st Paper)	
	04.100		6.04	Chapter-03: Periodic Table of Elements and Chemical Bonds (Till Periodic	
	04-Jan-23	Wednesday	C-01	Properties) (1st Paper)	
Week-01		Thursday	Engineering St	andard Weekly Exam-01 (Physically):	
	05-Jan-23	Thursday	(P ₁ +C ₁ +M ₁) MCQ (50×1=50); Written (18×10=180); Time: 1 hr. 25 min.		
	05-Jan to 06-Jan		Varsity Standard Weekly Exam-01 (Online):		
			$(P_1+C_1+M_1+Bio_1/Ba/E)$ MCQ $(60\times1=60)$; Written $(16\times2.5=40)$; Time: 1 hr. 30 min.		
			Bio-01: Chapter-04: Human Physiology: Blood and Circulation. (2nd Paper)		
			Bangla: ১ম পত্র- (অপরিচিতা), ২য় পত্র- বাংলা সাহিত্যের ইতিহাস ও ব্যাকরণ এর প্রারম্ভিক আলোচনা।		
			English: Parts of	Speech Identification and Transformation, Noun, Pronoun	
	07-Jan-23	Saturday	C-02	Chapter-03: Periodic Table of Elements and Chemical Bonds (Till Chemical	
		-		Bonding) (1st Paper)	
	09-Jan-23	Monday	M-02	Chapter-04: Circle (1st Paper)	
	11-Jan-23	Wednesday	P-02	Chapter-04: Newtonian Mechanics (1st Paper)	
	12-Jan-23	Thursday		andard Weekly Exam-02 (Physically):	
Week-02				CQ (50×1=50); Written (18×10=180); Time: 1 hr. 25 min. rd Weekly Exam-02 (Online):	
			(P ₂ +C ₂ +M ₂ +Bio ₂ +Ba/E) MCQ (60×1=60); Written (16×2.5=40); Time: 1 hr. 30 min.		
	12-Jan 1	to 13-Jan	Bio-02: Chapter-02: Introduction to Animals (Rui Fish) (2nd Paper) Chapter-03: Digestion and Absorption (2nd Paper		
			Chapter-05. Digestion and Absorption (2nd Paper Bangla: ১ম পত্র- সোনার তরী, ২য় পত্র- ধ্বনি ও বর্ণ ।		
			Bangia: ১ম শব্দ- সোণার তরা,		
			English. dender,	Chapter-01: Physical World and Measurement. (1st Paper) (Partial)	
	14-Jan-23	Saturday	P-03	Chapter-05: Work, Energy and Power (1st Paper)	
			C-03	Chapter-02: Qualitative Chemistry (Rutherford & Bohr's Atomic Model,	
	16-Jan-23	Monday		Principlesof electronic configuration, Quantum Number, Specterm, Solubility and	
	10 3411 23	,		Ion Identification) (1st Paper)	
	18-Jan-23	Wednesday	M-03	Chapter-06 : Conic (2nd Paper)	
	10 lon 22	Thursday	Engineering St	andard Weekly Exam-03 (Physically):	
Week-03	19-Jan-23	Thursday	(P ₃ +C ₃ +M ₃) M(CQ (50×1=50); Written (18×10=180); Time: 1 hr. 25 min.	
			Varsity Standard Weekly Exam-03 (Online):		
			(P₃+C₃+M₃+Bio₃+Ba/E) MCQ (60×1=60); Written (16×2.5=40); Time: 1 hr. 30 min.		
	10 land	no 20 Ion	Bio-03: Chapter-05: Human Physiology: Respiration and Breathing. (2nd Paper)		
	19-Jan 1	to 20-Jan	Chapter-07: Human Physiology: Locomotion and Movement. (2nd Paper)		
			Bangla: ১ম পত্র- বায়ান্নর দিনগুলো, প্রতিদান, ২য় পত্র- সমার্থক ও বিপরীতার্থক শব্দ		
			English: Verb types, Gerund-Participle-Verbal Noun, Modal Auxiliaries.		
	21-Jan-23	Saturday	M-04	Chapter-03: Complex Numbers (2nd Paper)	
Week-04	23-Jan-23	Monday	P-04	Chapter-06: Gravitation and Gravity. (1st Paper)	
	25-Jan-23	Wednesday	C-04	Chapter-03: Stoichiometric Chemistry (Chemical calculation, Concentration,	
				Titration and Indicator, Redox-Reaction) (2nd Paper)	
				Chapter-01: Environmental Chemistry (Parameters for purity of surface water)	
				(2nd Paper)	
	26-Jan-23	Thursday	Engineering Standard Weekly Exam-04 (Physically):		

			(P ₄ +C ₄ +M ₄) M	CQ (50×1=50); Written (18×10=180); Time: 1 hr. 25 min.	
	26-Jan to 27-Jan		Varsity Standard Weekly Exam-04 (Online): (P4+C4+M4+Bio4+Ba/E) MCQ (60×1=60); Written (16×2.5=40); Time: 1 hr. 30 min. Bio-04: Chapter-04: Microorganisms (1st Paper) Chapter-08: Tissues and Tissue Systems (1st Paper) Bangla: ১ম প্র-আমার পথ, ২য় প্র- ধ্বনি ও পরিবর্তন, শব্দের শ্রেণিবিভাগ । English: Subject-Verb Agreement, Right Form of Verbs, Spelling, Synonym & Antonym (E-H), Appropriate Preposition (C-F)		
Week-05	28-Jan-23	Saturday	C-05	Chapter-01: Environmental Chemistry (Gas Laws, Acid Rain & Acid-Base Theory) (2nd Paper)	
	30-Jan-23	Monday	M-05	Chapter-04: Polynomials and Polynomial Equations (2nd Paper)	
	01-Feb-23	Wednesday	P-05	Chapter-07: Structural Properties of Matter. (1st Paper) (Partial) Chapter-08: Periodic Motion (1st Paper)	
	02-Feb-23	Thursday	Engineering Standard Weekly Exam-05 (Physically): (P ₅ +C ₅ +M ₅) MCQ (50×1=50); Written (18×10=180); Time: 1 hr. 25 min.		
	02-Feb to 03-Feb		Varsity Standard Weekly Exam-05 (Online): (P5+C5+M5+BiO5+Ba/E) MCQ (60×1=60); Written (16×2.5=40); Time: 1 hr. 30 min. Bio-05: Chapter-01: Cell and Its Structure (1st Paper) Bangla: ১ম পত্ৰ-বিদ্ৰোহী, ২য় পত্ৰ- সন্ধি, বাংলা অনুজ্ঞা । English: Subjunctive and Causative, Conditional, Affirmative & Negative Agreement		

N.B. : Daily Exam: MCQ (20×1=20); Written (1×10=10); Time: 15 min. Biology Daily Exam: MCQ (20×1=20) + Written (1×2.5=2.5); Time: 20 min.

Sun-Tue-Thu Batch

Udvash Academic & Admission Care Engineering Admission Program-2022 Exam Batch Routine (1st-5th Week)



Week	Date	Day	Daily Exam	Syllabus	
	29-Dec-22	Thursday	Introductory	-	
	01-Jan-23	Sunday	M-01	Chapter-03: Straight Lines (1st Paper)	
	03-Jan-23	Tuesday	P-01	Chapter-02: Vectors (1st Paper)	
	05-Jan-23	Thursday	C-01	Chapter-03: Periodic Table of Elements and Chemical Bonds (Till Periodic	
	U3-Jaii-25	Titursuay	C-01	Properties) (1st Paper)	
Week-01	07-Jan-23	Saturday	Engineering St	andard Weekly Exam-01 (Physically):	
	U7-Jaii-25	Saturday	(P ₁ +C ₁ +M ₁) M(CQ (50×1=50); Written (18×10=180); Time: 1 hr. 25 min.	
			Varsity Standard Weekly Exam-01 (Online):		
	07-Jan to 08-Jan		$(P_1+C_1+M_1+Bio_1/Ba/E)$ MCQ $(60\times1=60)$; Written $(16\times2.5=40)$; Time: 1 hr. 30 min.		
			Bio-01: Chapter-04: Human Physiology: Blood and Circulation. (2nd Paper)		
			Bangla: ১ম পত্র-	(অপরিচিতা), ২য় পত্র- বাংলা সাহিত্যের ইতিহাস ও ব্যাকরণ এর প্রারম্ভিক আলোচনা।	
			English: Parts of Speech Identification and Transformation, Noun, Pronoun		
	08-Jan-23	Sunday	C-02	Chapter-03: Periodic Table of Elements and Chemical Bonds (Till Chemical	
	00-3411-23	Junuay	C 02	Bonding) (1st Paper)	
	10-Jan-23	Tuesday	M-02	Chapter-04: Circle (1st Paper)	
	12-Jan-23	Thursday	P-02	Chapter-04: Newtonian Mechanics (1st Paper)	
	14-Jan-23	Saturday	Engineering St	andard Weekly Exam-02 (Physically) :	
Week-02	14-Jan-25	Saturday	(P ₂ +C ₂ +M ₂) MCQ (50×1=50); Written (18×10=180); Time: 1 hr. 25 min.		
Week-02			Varsity Standard Weekly Exam-02 (Online):		
			(P ₂ +C ₂ +M ₂ +Bio ₂ +Ba/E) MCQ (60×1=60); Written (16×2.5=40); Time: 1 hr. 30 min.		
	44 look	- 45 Jan	Bio-02: Chapte	er-02: Introduction to Animals (Rui Fish) (2nd Paper)	
	14-Jan to 15-Jan		Chapter-03: Digestion and Absorption (2nd Paper		
			Bangla: ১ম পত্র- সোনার তরী, ২য় পত্র- ধ্বনি ও বর্ণ ।		
			English: Gender, Number, Preposition & Conjunction, Synonym & Antonym (A-D), Appropriate Preposition (A,B)		
	15-Jan-23	Sunday	P-03	Chapter-01: Physical World and Measurement. (1st Paper) (Partial)	
				Chapter-05: Work, Energy and Power (1st Paper)	
			C-03	Chapter-02: Qualitative Chemistry (Rutherford & Bohr's Atomic Model, Principles	
	17-Jan-23	Tuesday		of electronic configuration, Quantum Number, Specterm, Solubility and Ion	
				Identification) (1st Paper)	
	19-Jan-23	Thursday	M-03	Chapter-06 : Conic (2nd Paper)	
	21 Jan 22	Caturday	Engineering St	andard Weekly Exam-03 (Physically) :	
Week-03	21-Jan-23	Saturday	(P ₃ +C ₃ +M ₃) M(CQ (50×1=50); Written (18×10=180); Time: 1 hr. 25 min.	
	-		Varsity Standard Weekly Exam-03 (Online):		
			(P₃+C₃+M₃+Bio₃+Ba/E) MCQ (60×1=60); Written (16×2.5=40); Time: 1 hr. 30 min.		
			Bio-03: Chapter-05: Human Physiology: Respiration and Breathing. (2nd Paper)		
	21-Jan t	o 22-Jan	Chapter-07: Human Physiology: Locomotion and Movement. (2nd Paper)		
			Bangla: ১ম পত্র- বায়ান্নর দিনগুলো, প্রতিদান, ২য় পত্র- সমার্থক ও বিপরীতার্থক শব্দ		
			English: Verb types, Gerund-Participle-Verbal Noun, Modal Auxiliaries.		
Week-04	22-Jan-23	Sunday	M-04	Chapter-03: Complex Numbers (2nd Paper)	
	24-Jan-23	Tuesday	P-04	Chapter-06: Gravitation and Gravity. (1st Paper)	
	21301123	. acsaay		Chapter-03: Stoichiometric Chemistry (Chemical calculation, Concentration,	
	26-Jan-23	Thursday	C-04	Titration and Indicator, Redox-Reaction) (2nd Paper)	
				Chapter-01: Environmental Chemistry (Parameters for purity of surface water)	
				(2nd Paper)	
				(

			Engineering St	andard Weekly Evam-04 (Physically)		
	28-Jan-23	Saturday	Engineering Standard Weekly Exam-04 (Physically):			
				(P ₄ +C ₄ +M ₄) MCQ (50×1=50); Written (18×10=180); Time: 1 hr. 25 min.		
	28-Jan to 29-Jan		Varsity Standard Weekly Exam-04 (Online):			
			(P ₄ +C ₄ +M ₄ +Bio ₄ +Ba/E) MCQ (60×1=60); Written (16×2.5=40); Time: 1 hr. 30 min.			
			Bio-04: Chapter-04: Microorganisms (1st Paper)			
			Chapter-08: Tissues and Tissue Systems (1st Paper)			
			Bangla: ১ম পত্র-আমার পথ, ২য় পত্র- ধ্বনি ও পরিবর্তন, শব্দের শ্রেণিবিভাগ ।			
			English: Subject-Verb Agreement, Right Form of Verbs, Spelling, Synonym & Antonym (E-H), Appropriate			
			Preposition (C-F)			
	29-Jan-23	Sunday	C-05	Chapter-01: Environmental Chemistry (Gas Laws, Acid Rain & Acid-Base Theory)		
				(2nd Paper)		
	31-Jan-23	Tuesday	M-05	Chapter-04: Polynomials and Polynomial Equations (2nd Paper)		
	02-Feb-23	Thursday	P-05	Chapter-07: Structural Properties of Matter. (1st Paper) (Partial)		
				Chapter-08: Periodic Motion (1st Paper)		
Week-05	04-Feb-23	Saturday	Engineering Standard Weekly Exam-05 (Physically):			
			(P ₅ +C ₅ +M ₅) MCQ (50×1=50); Written (18×10=180); Time: 1 hr. 25 min.			
	04-Feb to 05-Feb		Varsity Standard Weekly Exam-05 (Online):			
			(P₅+C₅+M₅+Bio₅+Ba/E) MCQ (60×1=60); Written (16×2.5=40); Time: 1 hr. 30 min.			
			Bio-05: Chapter-01: Cell and Its Structure (1st Paper)			
			Bangla: ১ম পত্র-বিদ্রোহী, ২য় পত্র- সন্ধি, বাংলা অনুজ্ঞা ।			
			English: Subjunctive and Causative, Conditional, Affirmative & Negative Agreement			

N.B. : Daily Exam: MCQ (20×1=20); Written (1×10=10); Time: 15 min. Biology Daily Exam: MCQ (20×1=20) + Written (1×2.5=2.5); Time: 20 min.